Task B2. LOTO

In one of Bulgarian Loto games, called “Toto 2”, 6 numbers have to be chosen out of 49. 

Let   a1< a2 < a3 < a4 < a5 < a6    and   b1< b2 < b3 < b4 < b5 < b6  be two combinations. Denote them by A and B, respectively. 
We say that A<B, when aj = bj, for  j<i  and  ai < bi, for any value of  i  from 1 to 6. 

For example, is А is the combination 2, 9, 17, 28, 34, 46, and В is 2, 9, 17, 30, 32, 45, then A<B. 


Write program toto, which for two given combinations А and В, computes the number of combinations X, such that А < X < B. 

Input
From the first line of the standard input the program should enter the numbers for А combination, and from the second line – the numbers for B combination. The numbers for each combination are in increasing order.

Output
Write the computed number to the standard output. 
EXAMPLE
	Input
2 9 17 28 34 46

2 9 17 30 32 45

	Output
328


